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Find the measure of all numbered angles.
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1. State the theorem or postulate that
proves a // b.
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2. State the theorem or postulate that
proves a // b.
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Theorem/Postulate:

What is the value of y in order for a %570
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3. Which lines or segments are
parallel? State the theorem or
postulate that justifies your answer.
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. Which lines or segments are
parallel? State the theorem or

postulate that justifies your
answer.
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Theorem/Postulate:

5. Which lines or segments are
parallel? State the theorem or

postulate that justifies your answer.
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6. Which lines or segments are
parallel? State the theorem or
postulate that justifies your answer.
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7. Calculate the value of x for which £ || m
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8. Calculate the value of x for which £ || m
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9. Calculate the value of x for which € || m
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10. Calculate the value of x for which € || m
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11. Calculate the value of x for which € || m

q¥4 72X = 15D

(YO
(70

3, = [0



12. Calculate the value of x for which ¢ || m

13. 42 is supplementary to 23
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16. 46 is supplementary to 27
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18. 28 =46
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21. ms7 = 65° and mz9 = 115°
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